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wii)  Question numbers 20 to 24 in Section-A are five marks questions.

These are to be answered in about 70 words each.

(viii) Question numbers 25 1o 42 in Section-B are multiple choice
questions based on practical skills. Each question is a one mark

question. You are to select one most appropriate response out of the

four provided to you.
qrr-3A
Section-A
1. wgﬁmmﬁwﬁﬁ%aﬁ&wfmvm:%aﬁimwm%? 1
How many vertical columns are there in the modern periodic table and what
are they called ?
2. I IeEA ST ]

What is speciation?

3. S et T - Bl STaRTE! I Sl U I § Rl el
1M ¢ 1

Why should biodegradable and non-biodegradable wastes be discarded in

two separate dust bins ?

4 “Sifie IR TR T S & S T8 Sk Gafedl H ORI SRl EEdn JHH
Bt 81" 39 e <Rl 3R FfST 2

“The chromosomes number of the sexually reproducing parents and their

offspring is the same.” Justify this statement.

31/1/1 3 [P.T.O.
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et oft w6 g e % ST e W Tt 1 e R 3 e
79 % WIR T Bt ¥177 59 e < g S oy Awited webn Ree aniva
difer|

“A ray of light incident on a rectangular glass slab immersed in any
medium emerges parallel to itself.” Draw labelled ray diagram to justify the

statement.

& ;ST AR o e we st s 9 ey ) T
39 gETEY fomes g0 Sl 6 e sl & o et o ergwE fuem
wTeor % T gie B |

We often observe domestic waste decomposing in the bylanes of residential
colonies. Suggest ways to make people realise that the improper disposal

of waste is harmful to the environment.

HTYRTR WR R ST GE0 Y e a1 el S Gt SR Seh s |

List and explain any two advantages associated with water harvesting at

community level.

QIR 1 STV W15 H,S0, & 443 K W T8 i o o) a7y s =57 = e
mm—@mlwaﬁmﬁmmsmﬁiﬁwmmml
B aret Tff w5 et wefe fifan

Write the name and the structural formula of the compound formed when
ethanol is heated at 443 K with excess of conc. H,SO,. State the role of

conc. H;SO, in this reaction. Write chemical equation for the reaction.
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W%ﬁﬁ@ﬁm%ﬁﬁ%mmﬁﬁmw%?ﬁwﬁw Sofy
%ﬁwaﬁ%m@%qamﬁﬁﬁ@%mwﬁwm
BT STt 5795 (i) oivferas Torenst (if) T Torend i sy §)

Why homologous series of carbon compounds are so called? Write
chemical formula of two consecutive members of a homologous series and

state the part of these compounds that determines their (i) physical

properties, and (ii) chemical properties.

aﬁ%wgﬁmwaﬁwﬁ%@mﬁum%:
4Be, oFe, 148, 10K, »Ca

) Eﬁﬁ%mwmmmﬁwsﬁaﬁq%wwaaw
FoiI Ty frfay

(i) aﬁﬁﬁww%aﬁﬁﬁﬁmmﬁwww%@m
(iii) aaﬁﬁﬁwmﬁ%amgmlﬁﬁﬁaﬁﬁmm
WES G157

Given below are some elements of the modern periodic table :

4Be, oFe, 1,81, 14K, »Ca

(i) Select the element that has one electron in the outermost shell and

write its electronic configuration.

(ii)  Select two elements that belong to the same group. Give reason for

your answer.

(i)  Select two elements that belong to the same period. Which one of

the two has bigger atomic size ?

5 [P.T.O.




11, 3y st s § et i gea frfige | Rt smed 3 arff & 2w ol s
maﬁﬁﬁéﬁmammﬁaagmﬁﬁfmmwﬁaﬁqﬁm%?%eﬁwﬁ
=t ST W sl At ETSToRT o ST wrEst i R e aRads S 3

Write the number of periods the modern periodic table has. How do the
valency and metallic character of elements vary on moving from left to
right in a period ? How do the valency and atomic size of elements vary

down a group ? -

12.  (a) wiAfeE  TReeMER (JAst) Wi o6 sme hifv | ‘ 3
(b)  GTegHaH <Rt Ufsha 7 & fre v R & 7

(a)  Explain the process of regeneration in Planaria.

(b)  How is regeneration different from reproduction ?

13. (i) 9138, 91 (i) ST Y& & 50 8 9Tt 31-3F aifies g=id O 3% T
%@thaﬁﬁq%mw%ﬁﬁ%mtﬁwuﬂ%&aﬁm? 3

Write two examples each of sexually transmitted diseases caused by
(1) virus, (ii) bacteria. Explain how the transmission of such diseases be

prevented ?

14. 3 wemlt qon omgafes wemn ¥ e w0 ol @ Rt o
qeTehTSlg, ShITSTT | ook STl T U SeTawur oft €1y | 3

Tabulate two distinguishing features between acquired traits and inherited

traits with one example of each.

31/1/1 6




15.

16.

17.

18.

311

““foreft ST Ty ot form W W R e st (v @ fran) ® O R o ot
T8 T Srarelt & w1 T weha | fomeft wrersirar fargy = Tt Frefeon ) wigmn
=1 T T TaTE TRG <l FrIaT 8 59 9 o1 g Shifsm |

“The sex of a newborn child is a matter of chance and none of the parents
may be considered responsible for it.” Justify this statement with the help

of flow chart showing determination of sex of a newborn.

(i) ¥ g9 U, QAT (ii) e 2o § s Rre S 9 2l ¥ TR w
IEeTE IS | IR ST & 370 3T 61 g o forw <) s o) gt e

Mention the types of mirrors used as (i) rear view mirrors, (ii) shaving

mirrors. List two reasons to justify your answers in each case.

6 cm HTE I IS T 5 cm Fiew o & el sae o9 % geT 1w ¥
T T W 10 om G W TR R ce-ug w0 3w s o g a9t
st =t ferfer, wrest us werfar fafca shifm)

An object of height 6 ¢cm is placed perpendicular to the principal axis of a
concave lens of focal length 5 cm. Use lens formula to determine the
position, size and nature of the image if the distance of the object from the

lensis 10 cm.

yied /gt qur U % ana g o avf # o B 1 Sooh HiT | T %
for s hifs |

State the difference in colours of the sun observed during sunrise/sunset

and noon. Give explanation for each.

7 [P.T.O.




19.

20.

21.

31711

(2)
(b)

(a)
(b)

(a)
(b)

(c)

(2)
(b)

(©)

(a)

(b)
(a)

(b)

T T &7 SR &1 Y TR shl e S5

T aTeTEl Td Sl ) 9T el wd, g Serstase =i e wwE
O Y STTETTIHAT Bl & | UHT T & AT =hHfSig |

What is an ecosystem ? List its two main components.

We do not clean ponds or lakes, but an aquarium needs to be cleaned

regularly. Explain.

“FoTeRE’ i aiemT feriey |

foreht <fifiren St 210 9 C,H(O § F 31 |l |meEl sl §ieE
HieeRt 39 T Tt |

IR ST FRT hl S - fermg T Wife |

Define the term ‘isomers’.

Draw two possible isomers of the compound with molecular formula

C3HgO and write their names.

Give the electron dot structures of the above two compounds.

TR qe STei{ies TR 3 S H frsied s ATl i aregon (ferereenan)
i =l sHEY
T SHifTT T3 Sifres s g Soae wafe 3 ferfirsand == femg < 2 7

List three distinguishing features between sexual and asexual types

of reproduction.

Explain why variations are observed in the offsprings of sexually

reproducing organisms?




22. () FUMEEHA A, B 791 C I ve=iT iR 77k @ e
(b) ﬁ%mwﬁa@ﬁﬁwamwﬁ%wmﬁﬁm
L0

(a)  Identify A, B and C in the given diagram and write their functions.

(b)  Mention the role of gamete and zygote in sexually reproducing

organisms.

31/111 9 [P.T.O.




23. (a)

(b)

(a)

(b)

24. (a)

(b)

(@

Ls a8

TR % AU % HIEl o Seeim e et mrem ¥ e
AT AT Yeh1eT =ht Frata § =ner & o gy 1 <31 arel Sisth

Ty |

AT % W& ST TT i & ATAHIF FHHI: 4/3 q9 3/2 B AR ww
RIS ol =l 2x10° ms™' &, @1 (1) 97, (ii) et H Tehra1 ot =1ed 9id

S

State the laws of refraction of light. Give an expression to relate the

absolute refractive index of a medium with speed of light in vacuum.

The refractive indices of water and glass with respect to air are 4/3
and 3/2 respectively. If the speed of light in glass is 2x10% ms™, find
the speed of light iri (i) air, (ii) water.

13 Ffad 3T FA1 § 50 cm ¥ 0 0 R Rua wHER w6 v
uraT| 39 -3 w1 A foiay Sod ae sufe difta B sm dw &
=TT % e R fomwr s Efifu ) 59 € % @ i s
el TSY | fordt SUgE T T SURINT S 59 S 1 SRNYA R TR
Toran <1 weRan 2, 39 Twi % forg fomor s i

T FHER A UE Sefifee W - ¥ geiid g e €| 39 TR
% fergmaat =1 Heea forftau|

A person cannot read newspaper placed nearer than 50 cm from his
eyes. Name the defect of vision he is suffering from. Draw a ray
diagram to illustrate this defect. List its two possible causes. Draw a
ray diagram to show how this defect may be corrected using a lens

of appropriate focal length.

10




(b) We see advertisements for eye donation on television or in

newspapers. Write the importance of such advertisements.

HHT-o

Section-B

25, I3 BT TR o wEeel! 7 2 mL UEife-ore SR gui uk et difeam

[ oy

TIESISH wiei-e fHemar 2 | 98 et Sevr s & |

L < gRTee e i O | e T e 2
I I8 o T 5 o ST W S8 R o et B

M. 9 $i5 Jod! B 30 7 & g9 an & @ 98 9 eee $ g
Sl B |

V. g4, S Sierd! oot 38e arreh o o7 STt & o) 9 e A )
T 9§ Tt e E -

(A) LI, 3R II

(B) IL IRV

(C) LIV 3RI

(D) IV, I[3RII

31/111 11 [P.T.O.
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26.
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A student takes 2 mL acetic acid in a dry test tube and adds a pinch of

sodium hydrogen carbonate to it. He makes the following observations :
L A colourless and odourless gas evolves with a brisk effervescence.
II. The gas turns lime water milky when passed through it.

[II. The gas burns with an explosion when a burning splinter is brought

near it.

IV. The gas extinguishes the burning splinter that is brought near it.
The correct observations are : |

(A) LII,andIII

(B) ILIMandIV

(C) TLIVandI

(D) IV,IandII

ﬁ@ﬁﬁ%m%gwﬁaﬂaww%ﬁﬁwﬁmﬁaﬁé%ﬁnﬁ@w
et 3 T 2 miL YR o o & | 98 9 Tl | @ 2 mL S
ST TTETE Y FeRiT fetra & | T 7 & R e ae At R

(A) T st it & wEs e Sl ¢
(B) et oo Gl TIH IR E |

(C) i AEhfeh et 3 I8 MR T ¢
(D) ehfess st Siet 3 I8 WA ¢

12
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In an experiment to study the properties of acetic acid a student takes about
2 mL of acetic acid in a dry test tube. He adds about 2 mL of water to it and

shakes the test tube well. He is likely to observe that :
(A) the acetic acid dissolves readily in water

(B) the solution becomes light orange

(C)  water floats over the surface of acetic acid

(D) acetic acid floats over the surface of water

27. T 3@ 3 T 5@ @ 39 W e 20% Gifeem gegieuse o s
I g 12 fohe T e Meor e g e E | 1

I o esgEe TRwE Her i d )

I o e d 9y oot S 2|

M. =T g R ofe 31 uefia ghan 2 |

V. e fererem # o ffems v =1 5o T g 3 e el @ |
T Nam E

(A) LIFII

(B) ILIIAIV

(C) MNLIVAI

(D) LILIIV

31/1/1 13 [PI.O.
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A student prepared 20% sodium hydroxide solution in a beaker containing

water. The observations noted by him are given below.

L Sodium hydroxide is in the form of pellets.

II. It dissolves in water readily.

III. ~ The beaker appears cold when touched from outside.

IV.  The red litmus paper turns blue when dipped into the solution.

The corect observation are :
(A) I, IIandIIl

(B) ILHOIandIV

(C) I, IVandlI

(D) LILand IV

FrefeTRaa et w1 eTee iR

L e st 3 sl e e v gan wor e
B ST & T 78 Snardt 2l &

I o st 3 srfifine- s o iem foreme w3 2o o ge
¥ uftada T2 grar a9 T Fwad sfufE g

I @rertentr STfsrfsran o stfirfera-frsmor 8 o mcuwﬁgqm O TR T
o fierd et i a9 77 S it )

IV.  argHteRt siffsa o stivfsman- s § fon e o gat wesss o
o e T S au I8 e il ¥ |
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STE R A A OgI Fe e .

(A)
(B)
(©
(D)

I[aan il

IT a9 11T

Iaua v

[qaT IV

Read the following statements :

IL

.

IV.

When a red litmus paper is dipped into reaction mixture of a

saponification reaction, it turns blue and the reaction is exothermic.’

When a blue litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

exothermic.

When a red litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

endothermic.

When a blue litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

endothermic.

Which of the above statements are correct :

(A)
(B)
©

(D)

Iland I1
IT and 111
Il and IV

ILand IV

15 [P.T:0.
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29.

31/1/1

T TR o T STTavere el STd & ST |
(1) Hicam daehe (2)
(3) oHfowmm FEs (4)
(5) wifszm gEgsH FEHe (6)
(A) 1,294

(B) 1,396

C) 3,596

(D) 2,495

Hifeam aehe
TR g
IfifIEm wess

Hard water required for an experiment is not available in a school

laboratory. However, following salts are available in the laboratory. Select

the salts which may be dissolved in water to make it hard for the

Calcium Sulphate
Calcium Chloride

Sodium Hydrogen Carbonate

experiment.

(1)

3

()

(A) 1,2and4
(B) 1,3and6
(C) 3,5and6
(D) 2,4andS5

@)
(4)
(6)

16

Sodium Sulphate
Potassium Sulphate

Magnesium Chloride
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et o T o i argee FRel qreer g w1 wiere e R X S U
S* 7% T R | = oF o sw g @ gl 40 om 7, O FrefaRed § @ w@ we
gHT)

(A) I X Iuacar, SEh wEa gl 20 cm |

(B) If X eraact 50 € SmeRl wisw gl 40 em ¥ |

(C) I X aferae gaw 2 fraeht sgear B 40 em B

(D) I X el wwa gl 40 om B 1
A student focussed the image of a distant object using a device ‘X’ on a

white screen ‘S’ as shown in the figure. If the distance of the screen from
the device is 40 cm, select the correct statement about the device.

lﬁ——_zto em—_— 1

(A) The device X is a convex lens of focal length 20 cm.
(B) The device X is a concave mirror of focal length 40 cm.
(C) The device X is a concave mirror of radius of curvature 40 cm.

(D) The device X is a convex lens of focal length 40 cm.

17 i 2.0
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foreft et 7 sraraer ador g T PTETET- % g R o v Weeeh 6 sare
o1 <fteur idfses 93 o ST fm | ador < wiend gt @ oiR ot U T e %
T forerss weea 3 & welwife swefier foret oo oy ) Wi &t =1
e T497 | 36 ST 1 1 AT =Ry’

(A) 38T H G H R THE IR

(B) 393U T AIST UG ST 3 GHET =AY |

(C) 38 gdfur o W< ST =T 19 1 U A o o) 31 TR SRy
(D) 36 % U4 ol e A T 7Y fares o) 3T TR =R |

A student obtained a sharp image of a burning candle, placed at the
farther end of a laboratory table, on a screen using a concave mirror. For
getting better value of focal Iength of the mirror, the subject teacher

suggested him for focussing a well illuminated distant object. What should

the student do?
(A) He should move the mirror away from the screen.
(B)  He should move the mirror slightly towards the screen.

(C)  He should move the mirror as well as the screen towards the newly

selected object.

(D)  He should move only the screen towards the newly selected object.




32. O Taie SATIaH il o ToTg i ¥ o aTel TeRTT Fohur st vt STgRfad o
=TT 1ol BT = TEIEUT T S0 » a7 FRTd 1ol ¢ % T Al ATaT 3iR

=t fou srgan arferen # e foma
T G Zi L7 Ze
I 30° 20° 31°
il 40° 250 40°
111 50° 31° 49°
T HE 1 YA
(A) 131
(B) LTI
(C) 1dII

31L1/1

(D) LIS

After tracing the path of rays of light through a glass slab for three different

angles of incidence, a student measured the corresponding values angle of

refraction r and angle of emergence e and recorded them in the table given

below :
S. No. £1 Ly Le
I oL 209 31®
I 40° 250 40°
I 50° 31° 49°
19
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et

# The correct observations are :
! (A) IandIl

(B) HandIII

(C) TlandIII

(D) LI and IIT

33, i TR W Y T et e R s 0 STgie e % forg e
& TRt srEeat # W wEAE e W W R? 1

e ——

@ ety

/

(I1) (IV)

(A) 1
B) I
(C) 1
(D) IV

31/1/1 20




Select from the following the best set-up for tracing the path of a ray of

light through a rectangular glass slab :

(D

/

(1)
A) 1

(B) I

(© 1

D) IV

31/1/1

21

R =S OO

D)

av)
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34. Wi & o @ To arelt genre R st vy TR R RN o e
AR B Y a st § smufia R @ et B % oo 9 R e @
M| 1

@ (D

A

Im av)

T4 9 ToRtor o1 w21 9 I Ten M@ R
(A) I

B) 1

(C) I

D) 1V

31144 22




While performing the experiment to trace the path of a ray of light pa
through a glass prism,

emergent ray in their diagrams in the manner shown below.

PAN
o

s
o d

0

The correct path of the rays has been shown by :

A 1
B) I
(€ I
o v

31/111

four students marked the incident ray

23
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ST 91 5 35 e 35 e o v e P
SRRE 0 35 S 2 8 7 Sn s o e e

(A)  3mafaa fomeor & gumar 2|
(B)  mufia fomor & ermaa &)
(©)  Iwaia oo & wumar
(D) wﬁamaﬁﬁmﬁﬁmaﬁwma@mﬁr

In an experiment to trace the path of a ray of light through a glass prism for
different values of angle of incidence a student would find that the

emergent ray :

(A)  is parallel to the incident ray

(B)  perpendicular to the incident ray
(C)  is parallel to the refracted ray

(D)  bends at an angle to the direction of incident ray

24




36. frmfriaa e ST ol STEH Shitey : 1

37 il # g Rt S & T S T T R 6w 9y S
™Y

(A) FHEA IS

(B) A9l

(C) LIIII

(D) LIOalv

31/1/1 25 [P.T.O.




Study the following ray diagrams :

am g

Iv) /F1 Fz\

The diagrams showing the correct path of the ray after passing through the

lens are :

(A) II and III only
(B) IandIl only
(C) LOandIO

(D)

[ MTand IV
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s o gurieh R ute smafaq ot § ¥ 9 i R @ g S etde %
Frert =51 aTe R @ § SR e swm s o g s wiafers o el s
EICR:ACT IR ReC 1

——a I
2F, 4 [\w
W =

(A) 1,293
(B) 2,394
(C) 3,4d5
(D) 1,294

Out of the five incident rays shown in the figure find the three rays that are
obeying the laws of refraction and may be used for locating the position of

image formed by a convex lens :

oF, ‘ 4 ( W

(A) 1,2and3
(B) 2,3and4
(C) 3,4and5
(D) 1,2and 4

% [P.T.O.
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Srefte o fgvet 3 fafir awor <) fendt weiree o1 Setur s % uvana Tl s A
A= fiu u ama EiN, S Sfed wa 1 TE e e E

.@@. .@

(1) (1) !

TR TR A € -

(A) LV, IV,ILI

(B) LIOLIV,V,II

© LV,ILIV, I

(D) LIV,V,IL1I

A student after observing a slide showing different stages of binary fission

in Amoeba draws the following diagrams. However these diagrams are not

in proper sequence :

@@.. @@

(ID) (1) av)

The correct sequence is :
A LV, IV,ILI
(B) LIULIV,V,II
© LV ILIv, I
D) LIV,V,IOLII

28




39.

31/1/1

*fiee o grer ot itk 3 fore welt o g 1

L

IL.

Il
Iv.
(A)
(B)
(©)
(D)

g Togsm & forelt farsiw s @ s &

forg =Rferm < wafa Rl § fefie Bt & o o s veam
ARSI

forghre @ g 81 & Id gepet U o1 e s weeT .
TSl =TS Hpet TUGeRt & Yo B ST & 79 98 797 Se o S 2

LTI

IL, I3 IV

0L IvVal

Iv,Is11

Select the correct statements for the process of budding in yeast :

L

11,

I1I.

IV.

(A)
(B)
©
(D)

A bud arises from a particular region on a parent body.

A parent cell divides into two daughter cells, here the parental

identity is lost.
Before detaching from the parent body a bud may form another bud.

A bud when detaches from the parent body grows into a new

individual.

I, IT and III
I, ITI and IV
III, IV and I

IV, Tand I

29 [P.T.O.




40. TEY TE St % Ity [ Rl T 3 Heot o AT o R <hedt < St
% Terfirer frrernt =1 st HifT -

I | aYT YTk TTehl 8 TEET S |

[ SRl % e qu uikmE 3 U et § SHed S E |

M. et % T a9 SHEE! & T Sl § aed 37|

V. foem des aun FRieel (TS &1 A uredl § aey 3R ¢

0 o e &
(A) T
(B) LIV
(C) 131
(D) I aIV

Study the different conclusions drawn by students of a class on the basis of

observations of preserved / available specimens of plants and animals.

8 Potato and sweet potato are analogous organs in plants.
1. Wings of insects and wings of birds are homologous organs in
animals.

III. Wings of insects and wings of bats are analogous organs in animals.

IV. Thorns of citrus and tendrils of cucurbita are analogous organs in
plants.

The correct conclusions are :

(A) landII
(B) HandlV
(C) landIlI
(D) IMlandIV

3111 30
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(A)
(B)
©)
(D)

(A)

(B)
(©)

(D)

31711

R e e

3T AT AT

ST AT ZHTE

SIS GRIRETCT

TSI AT et

correct homologous structures.

Potato and tomato
Carrot and tomato
Potato and sweet potato

Carrot and radish

31

41. U S F O F IR ¥ wE o v wfmt S e, e, Tqel,
1 YhTehal, THTEL A1 e & | 90 § QI IR TR ST st Seemist
it et 2

You have potato, carrot, radish, sweet potato, tomato and ginger bought

from the market in your jute bag. Identify two vegetables to represent the

[P.T.O.




42.

31/1/1

TN T MG * A, B TIT C 9T AT & -

(A)

(B)

ST, YT o Sy

RIS, TE T sty

(C) H’@,WHWW
(D) TR, ST dem wigw

In the figure, the parts marked A, B and C are sequentially :

(A)
(B)
©

(D)

A

B

Plumule, Radicle and Cotyledon
Radicle, Plumule and Cotyledon
Plumule, Cotyledon and Radicle

Radicle, Cotyledon and Plumule

&




